PHYS 2170
General Physics 3 for Majors

Fall 2021

Lecture 9

Relativistic collisions

September 13



Review the conservation of energy and momentum.
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@ Particle A (mass ma > 0) can transform into particle B (mass mg > 0)
by emitting a single photon Which one has higher mass?
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Particle C is traveling at veloc1ty v = 0.5¢, when it suddenly

disintegrates into two photons of equal energy. Descrlbe
you can, the traj ctor of the
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@ A very heavy particle of mass M, traveling at speed 0.6¢, collides into a
very light particle of mass m < M, at rest. After the collision,
estimate the speed of each particle.



